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Note: Answer From Both the Section as Directed, The Figures in the right-hand margin indicate marks.
s / Section-A

1 F=faRea sgieaiy uwel & ser i

Answer the following multiple choice type questions: 1x10
(a) A fawmw EHie @ ufoues B &
Who is the exponent of H.D.I.-
(i) s ¥  Amartya Sen (ii) 7899 S 86 Mahbub-ul-Haq

(iii) At w7 AR Smt John Robinson  (iv) smef@  Marshall
(b) "t ¥ W § TS 95 9 & T° pu fraar 8-
“A country is poor because it is poor”, Whose statement is it-
(i) Jvagier  J.S.Schumpeter (ii) ¥R 989 Ragnar Nurkse
(i) svafa JSMill  (iv) o med  Karl Marx
() amer—yer faveyy & yiimEe B E-
Who is the exponent of Input-Output Analysis-
(i) vemfaw JR.Hicks (i) vamwsar  H.Kohler
(iii) wrafrel = feraaw Wassely W.Leontief (iv) <t aemwiig RizDr. Baljeet Singh
(d) ¥Ra & gud IR @RI o fRAverye a1 Pt w@e R far o
Who used cost benefit Analysis for the first time in India regularly-
(i) BT Pro.K.N.Raj (ii) sigga=or  Dr.A.S.Charan
(iii) ¥fxmIREEr Dr.Ramnarayan (iv) <f<sRr<fie Dr.D.R.Gadgil
(e) "fawa & 7Rt UF &), TR o WA & sfRaq 7o T I @R foaT e o
You are the workers of the world, you do not have to pay anything other than
your fetters. Who said-
(1) =efd Marshall (ii) yirex Schumpeter
(iii) wret wrRd Karl Marx  (iv) SlemefRew J.R.Hicks
() SR & AR MY 9fE R P FEREr B TeR ey 8-

According to Pro. Domar the rate of income growth is determined as follow-
_ AlXAy

Hy=2 @y=2Gi) y=" Gvy==22
(g) “T TRt srefarawn Y ok we & oad I -
Who wrote a book “Towards a Dynamic Economics”-
(i) fefsek  Kindleburger (ii) aRyw s R.F.Harrod
(iii) ¥R 79§  Ragnar Nurkse (iv) weaR®er  Adamsmith
(h) wa fowre GEere & feaw gfmams smm #-
How many basic Dimensions of human development index-
(i) 03 (ii) 04 (iii) 05 (iv) 02




(i) 5. ¥ @1 TIew smRka 8~  Pro. Mead’s model is based upon-

(i) s7w= gf& <X Population Growth (ii) a7 gfg =X Income Growth
(iii) (i) sfiX (ii) S = Both (i) and(ii) (iv)s™ 9 =¥ & None of these
() e Rema § wolpr g fraa 8-

Whose model is the Golden Age in Economic Development-

(i) 3™ ¥ Amartya Sen (ii) s <t <ffe=aa Smt John Robinson
(iii) sl S¥en fgew Smt U.Hicks (iv) sefd Marshall
2. FafaRed dg-—sada yE=l & Iar AR 2x5

Answer the following short-answer type questions:
(2) TEwad @7 yRwIfa #forg |

Give a definition of innovation.
(b) <7 gEE & Hife Yo D IR B AW qagd |
Name the basic of physical quality of life index.
(c) @ ot faweryor v wigre fewolt fafrg)
Write a short note on cost benefit analysis.
(d) T=fe® gig R s 9fE R 7 wfas gfE ) F ot Taied |
Difference between actual growth rate required growth rate and the natural
growth rate.
(e) Mo Ae gwr wfawfRa snftfe R aea & e ARkl
Explain the economic development model propounded by Pro.J.E.Meade.
wug / Section-B
Frefafe Ol sl gt @ Iar I 12x5
Answer the following long answer type questions:
@13 / Unit-1
3. anf¥fes e anife o emfdfe HRo &7 9Romm & wwensd |
Economic backwardness is a result of economic & non economic factors.Explain.
arar/ Or
frfafem 7 & fosi & w fRewolt fafg-
Write short notes on any two of the following-
a. 3w fdem @ Faike a&@ Determinants of Economic Growth
b. #ia A% ga&ies Human Development Index
c. guEadt fawr  Inclusive Growth
518 / Unit-11
4. AT-UST faTerer B wHegd o aRie R # 59 A @ Soord BIIg |
Explain the Input-Output Analysis and state its importance in the economic
planning.
gar/ Or
U RIS @ qedied v 9ga Ry B 2Rvaa 3 wma o Reewo & gwia @
oI BT |
Discuss the cost benefit analysis as a technique for evaluation and selecting a
project.
@15 / Unit-111
5. AETerIfed @ AR &HE ASd @ @A DT MRS e el aw 39 W R 2
Outline the Mahalanobis four sector model. To what extent Indian planning is
based.
Jyar/ Or
P B e e Rgla o1 seee® ThaeT At |
Critically examine the Keynesian theory of economic growth.




go1R / Unit-IV
6. W. 3R e & ST sMyfi Rigla &t fad=a=m #ifsrg
Describe the Pro. Arthur Lewis theory of unlimited supply of labour.
armEr/ Or
ISR B A AT A 1 AAGTHD ARAT TG |
Critically explain the Kaldor’s models of income distribution.
318 / Unit-V
7. wot g gfE v o At B GReAT Hifg s Wk & AF F o arelt HRal ot
fadmmT P |
Explain the concept of Golden Age development way. What are the weakness of
the model.
@/ Or
el @ 79 fiftoq e Arew # neraow @ S |

Critically explain the Solo’s new classical model of economic growth.



